ITI Refrigeration and Air Conditioning Technician 2nd Year Module 10
Duct Air filters Package

(1). What is the name of meter? | e W:IWW%?

(A) Hot wire anemometer | EUEW@W

(B) Rotating vane anemometer | ﬁ%ﬁ‘Ta:fQ:ﬂﬁlTﬂa

(C) Deflecting vane anemometer | é’ﬁ%éﬁﬁﬂﬁa

(D) Direct reading air velocity meter | WWWWW

Correct Answer : D



(2). What is the name of part marked as X in testing thermostatic expansion

valve? | YA fadR dTed & Uteur & x & U # ffgd UrT 1 9H 82

(A) Feeler bulb | ftheR deg
(B) Expansion valve | faxdR drea

(C) Adjustable drill bleed | TSGR dd f$d &ilg
(D) High pressure supply line | WW\H’H‘%@I%H

Correct Answer : C

(3). What is the cause of compressor stops before the thermostat is satisfied? |

YT & AP 8 U UEd HUR & §¢ 81 ST BT T HRUT g2
(A) Defective Low pressure switch | fethidea o U=R fiag
(B) Defective permanent capacitor | fethfded Ra™e HuRiex
(C) Defective running capacitor | "mﬁ%ﬁlﬂ”
(D) Defective starting capacitor | mmw

Correct Answer : C




(4). What is the volume of air passed at the outlet of a rectangular duct whose
area of cross section is 1m? and the air velocity by an anemometer is 10m/min? |

T AMATHR T & 3cale TR UIRd §aT &t HET T § FSraehT i Ja=H
BT ETHA 1m2 § AR TP T GRT AR BT 3T 10m / min 87

(A) 5m?3
(B) 10 m?
(C) 15m3
(D) 20 m?3

Correct Answer : B

(5). What is the name of part marked as X in low pressure cut out switch? | ﬁg

2§ de Rgg o x & ©U H RIRd U ST A R 8?

-
2

© L
J &=

(A) Cover | HTART[
(B) Diaphragm | SIUTWRTH
(C) Sensingline | TR NIER!

(D) Cut-in adjustment | hC-gd QS\\{NJ:I.C

Correct Answer : B



(6). Which material is used for making air ducts in chiller AC plant? | ﬁﬁﬁw

wiie § arg AfieTd s & fo o reht &1 Sy fear s g2
(A) Castiron | =T gl

(B) Glass wool | SId BT H

(C) Thermo Cole | YHI B

(D) Galvanised iron | ST iG]

Correct Answer : D

(7). What is the minimum temperature difference in water required between inlet
and outlet of water cooled condenser? | dIcR ¢S PR A ‘é"lc-'\id gy 3R
3{T3eTIe & UM & o H -gAdH diaH SR F1 82

(A) 5°C

(B) 15°C
(C) 10°C
(D) 20°C

Correct Answer : A

(8). What is the purpose of TEV in refrigeration cycle of package AC? | ﬁ%mﬂ

o TRIT 9 H TEV BT 3G T 8?
(A) Condensing gas | g T
(B) Throttling refrigerant | UTcd b TolRe

(C) Flush out dry nitrogen | T ATSCIoH dTER HdTd ¢

(D) Cooling the evaporator | @l%‘i‘l Qaldliéli

Correct Answer : B




(9). What is the reason for insulating ducts? | Wﬁﬁ%ﬂﬁ?mﬁww
FTG?

(A) Restrict condensation on ducts | et IR u=- &I Ufdsferd &
(B) Restrict vaporization on ducts | AferpTei IR ATt o & ufdsiad o3
(C) Strengthen the ducts | Wﬁﬁﬂﬁ@ﬁﬁ

(D) Restrict leakage on ducts | EINCARIR CEE S CE IR IREIRG

Correct Answer : A

(10). Which safety control is actuated by excess of heat /current in package AC? |

Torol Tt § Y / e Bt SfemdT B B 1 GR&f a0 dhetd HRal 82
(A) Selector switch | Tcidex Raa

(B) Over load relay | 3ffaR @I et

(C) Water flow switch | U1 &1 UaTg g

(D) High pressure cut-out | 3= qdld b C-3{13C

Correct Answer : B

(11). How to increase the life span of the H.E.P.A filters? | HEPA e BT SfaA
BT HY FGI4?

(A) Cleaning air duct | 9T aTfg-l B T3

(B) Well maintained pre filters | 33! d¥g ¥ &-TT YW1 Jd ftheex
(C) Cleaning AHU | TUTY &1 AT

(D) Cleaning evaporator | GUBTs STHRUTH ]

Correct Answer : B



(12). What is the name of part marked as X in package AC? | ﬁ%@ﬁﬁx & &Y
H feifgd YIT &1 AH |1 82

- : —
1

M |

(A) TXV

(B) OLP

(C) Distributor | IEGEGY

(D) Filter drier | WT@?R

Correct Answer : D

(13). What is the purpose of air filter? | WWWB%’WW%?
(A) Cool air | Sl gdl

(B) Circulate air | &4l HIAT

(C) Ensure clean air | Wwwﬁﬁ



(D) Improve performance | umﬁg%rrw

Correct Answer : C

(14). What is the name of safety switch marked as X in package AC? | ﬁ%mﬂﬁ
A% X & =0 § ffgd Ren Reg 1 g2

o

(0 X

(A) Oil flow switch | I UdTg Raa

(B) Gas flow switch | T UaTg Rag

(C) Water flow switch | Ot UdTg faad
(D) Pressure flow switch | GaTd YaTg Rad

Correct Answer : C

(15). How we can full fill the requirement of different air flow of supply air? | gH

TS TR & fafd TR TRl &1 SHTIRIDH T ! v GRT R Thdl & 2

(A) Using variable-air volume system | W—WWWWW
DAl

(B) Using constant air volume systems. | WWWWWW
hHIAT



(C) Using control fan speed | e Id Th WS BT IUTRT HAT

(D) Using backward curved blade fan | e Bl eﬁ?w@ga@rﬁﬂm
SUINT HAT

Correct Answer : A

(16). What is meant by total pressure in a duct? | Waﬂ%ﬁﬁ P qdld pT HI
qqad §?

(A) Velocity pressure - static pressure

(B) Static pressure + velocity pressure

(C) Velocity pressure + suction pressure
(D) Suction pressure + discharge pressure

Correct Answer : B

(17). What is measured by clamp tester during “Test run” of package AC? | ﬁw

T & 2% T F SR FoT ULIeidh GIRT o1 HTUT STl 872
(A) Idle pressure | TEST YRR

(B) Running current | XA dec

(C) Rotation per minute | ¢ Ufd e

(D) Vacuum holding strength | I&H SIS WY

Correct Answer : B



(18). What is the name of the part marked X in the thermostat? | YA H X b
U fRfRd st I A 2

o S A A B A i S S A A S A A s

%

2o PR R T T T T T T

:

W T T T TR T TR TR U R VR

(A) Bellows | Sdreq

(B) Movable contact | Aadd Plcac

(C) Stationary contact | T Dicde

(D) Differential adjustment | fSThRIgd Hicac

Correct Answer : B

(19). What is the reason for high condensing pressure in air cooled condensers? |
TR 68 Do R H 3 Bro-4R GaId BT HRUI 1 6?

(A) Dirt on fins | gl OR Tt

(B) Faulty water pump | wqﬁqﬂ

(C) High speed of fan motor | T Hle &1 3 TTid
(D) Low ambient temperature | HH URAR BT ITHH

Correct Answer : A



(20). Which thermistor’s resistance increases if the temperature is decreased? |

dUHH ®H 811 R frg uftfer o1 ufeRiy Ig Srar g?
(A) PTC
(B) NTC
(C) VDR
(D) LDR

Correct Answer : B

(21). How much cut out point is set in high pressure control in package AC using R-

22? | R -22 BT IYTNT B Upol THI A I=d a1 (Hg=01 | fav a1 e 3m3e
fag fRuffa fearm g?

(A) 12 Kg/cm?
(B) 15 Kg/cm?
(C) 17 Kg/cm?
(D) 20 Kg/cm?

Correct Answer : D

(22). What is the position of knob selected in thermostat to check its working

condition in package AC? | %wﬁwwﬁ%ﬁWW$m
yrRee H g T8 Al &1 fufd 71 g a1fe e

(A) Fanonly | Had e

(B) Low cool | H &SI

(C) High cool | 3P SST
(D) Medium cool | HH 381

Correct Answer : B



(23). How to position the liquid line valve to start the pump down operation in
split AC? | TeTe Tl & 0T 13 SRR Y= R o (¢ feffeh g 1S dled Bl
HY IW?

(A) Closed | &G 3™

(B) Opened | GalT3W

(C) Back seated | UT&S §&T

(D) Back seat crack | Ul @1 Hie xR

Correct Answer : A

(24). Which switch is interlocked to become ‘on’ if the power isolator is ‘off’ in

package AC? | U] T H UTAR 3MTgHIdIeR 311 ‘B TR 3{i- 9 & foru v g
g &Y Sexdio fPur T g2

(A) Thermostat | ?'m?

(B) Blower motor | SATAR Hlex

(C) Crankcase heater | a:)cb &Y Eﬂd%
(D) Compressor starting | W?{RK

Correct Answer : C

(25). Where to assemble all the controls, microprocessor display board and
indicating LED in package AC? | Ul T H LED, ATSHITRRR foTd a7

Tohd U HSIe Bl SHET HRbh Dl Sed?

(A) DOL
(B) Body | CIE|
(C) Panel board | PEREIR



(D) Blower compartment | KR HHCHE

Correct Answer : C



